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1. duwuaudauyadnsuszuulw (0o)

-

Fault iaiida low volt, desms transfer ZQ sudeuilas

U Transfer voltage Wiuronday v=a1u1sn

Zat = 20/t

maulitaudavyavovszuulwillaaol

_ C (kV HV )(22 * (kVTran LV )2
Y MVA (KV a0 v )

SC




1. duwWuauddauyadnsuszuulwi (0o)

7. SV 7 C0)e (1
MVA, MVA, (L7
kVQ - usoau line-to-line waoszuunaa Q (KV)
Lo = dudinaugyeoszuuluiln (Q)
ZQt = suliuaudveos:uulWiduowruntaudas
MVA,. = fravaadovsauvuias (MVA)
C = @IUS=NaUNSVAU msoa = 1.0, usoao = 1.1)

L = Transformer voltage ratio (HV/LV)




Voltage factor (IEC 909)

Voltage Factor c

This 15 the factor used to adjust the value of the equivalent voltage source for rmrmum and masttourm current
calculations according to the following tahle:

Voltage Factor c

Nominal Voltage Un
For Maximum Shori- Circuit For Minimum Short- Circuit
Current Calculation Current Calculation
CIax Cmin

Low woltage: 100 % to 1000 W
230V S400 5 1.00 0.95
Other woltages 1.05 1.00
Mednm woltage: > 1 KV to 35 KV 1.10 1.00
High woltage: = 35 KV to 230 KV 1.10 1.00

The crmax walues given i the ahove table are used as default walues i calculations and the user can set these
values from the Short-Circut Study Case.




1. BuWnauUsdUWNaUdduyadnsuszuulwil

- |EC 909 uu=tinon aqlunsauan
AU AIUNIU Ro Javs=uulWilhnuduau

dauasaniallagdszuanulaaou

XQ = 0.995 ZQ nas RQ - 0.1 XQ



N15aca299s5UsS=INN6a10 9

Y

— L3 . — — L3 - -
@) ——p < (b) ——eL -
L1 - L1 T

f e r

S
—
—<+—9

2L * = L3
(c) S - (d) L2
L1 1 - L1 -

! + k2 "

g1
'yom

- _— S —_—

—— Short Circuit Current —=— Branch Short - circuit Currents
in Conductors and Earth
a) Balance Three Phase Short Circuit.
b) Line to Line Short Circuit Without Earth Connection.
c¢) Line to Line Short Circuit With Earth Connection.
d) Line to Earth Short Circuit.
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nisnanszudaasvosisuau (I,

stiageo fault dnsAUdU
h fault LR
3-pn rau Kk \/gzl
. 3c (kV
1-ph to ground |, = Ve (k)
L,+Z,+7Z,
V3¢ (kV )
2-ph to ground L S 7 12,2020
. c(kV)

- _ _ - I —
Line-to-line K 7 +2,




[ |
ol

nscudaadvovsuszinniavzuarwinnda?

1.1

0:8 — //
'/

0.7 Example
—— e —— e — — e — )
0.6 i

I
2(2) o5 :
Z(o)

0.4 // :
I
0.3 3

| \\
. |
/ '
0.1 :
I
0 | | !

0 01 02 03 04 05 06 07 08 09 1.0
Z
(2) - 12




2. duwnaudduyadnsunvoaudao

— %Z (kV )T2 RT _ I:)Loss XTr — \/ZTZr — RTZr

100 MVA.

= dunuaudgeontoudao ( €2)
= @dwwauniugaoniioudao ( €2 )
= Suanuaudveonvoudao ( Q)

= wWos1BuaduWIaUS voltage goonaudao

= gunranieudao (MVA)

= wnausoaulwilrgeonvaudas (KV)
= ainaogudtdanonuagaondaudaolwil(kW)

= nszudlnaaauinaauuson (A)




Q niaudaosura 2000 KVA , 22 kV/400-230 V

% Z =6, P, =24 KW, I, = 2887 A

P01 ZTr nuanuananodaon1vai1uiisoan

Z _ %Z (kV )T2 R — I:)Loss
" 100MVA, T3l
100 2 32887 2
=4.8X10"3() —0.96X10—30)

\/ 2 2
=+1/4.8" —0.96
=4.7X1073() 14

XTr — \/ZTzr _RTZr




doyanvaulaolwilusoann 400,230 V

it IFL %UK PL ZT RT XT
(KVA) | (A) (KW)Y | (mQ) | (mQ) | (mQ)
315 455 4 3.9 20.32 6.29 19.32
400 577 4 4.6 16.0 4.60 15.32
500 122 4 b.b 12.8 3.52 12.31
630 909 4 6.5 10.16 2.62 9.82
800 115656 6 11.0 12.00 2.7H 11.68
1000 1443 6 13.5 9.60 2.16 9.3
1250 1804 6 16.4 7.68 1.68 7.49
1600 2309 6 19.8 6.00 1.24 5.87
2000 2887 6 24 4.8 0.96 0.47
2500 3608 6 26.8 3.84 0.69 3.78

15




AI019NITAIHINY

e yraudasvuia 1000 kV, 22kV/400V, %Z=6

0 Y] 7y o g X 1 v W Y] Jd
WHIRIIUHINTZUAEA99T |7 Aunseduloyonaefulidoriug

, _%Z*c(kv); _6*1*04° . 0
T 100 MVA, 100 *1

c(kV *
(KV) = 170.4 = 24.05 kA

| = —
“ 3z, 3*9.6x10°°

16



3. AdUWNAUGYdVdI9IAIUA (UDN. 11-2531)

p—

R X
AT U UNSELARRUT 40 | SusAumutluviealave | Sussusutluvelaewiatuada
°c (hinalevia / 30) | (imdlavs / u) (indlava / 4.)

0.5 38. 7560 0.1423 ' 0.1778

auirnelv
(RT.4M.)

1 19.4867 0.1266 0.1583

1.5 13.0270 0.1195 01404
7.0776 0.1101 0.1377
49632 0.1069 0133
3.3159 0.1027 01284

1.9702 0.0998 [ 0.1249

1.2381 0.0951 0.1189
0.7828 0.0946 0.1183
0.5647 0.0872 0.1083
0.4174 0.0867 0.1080
0.2899 0.0843 0.1054

0.2099 0.0835 0.1043




AR

(A)

AN UWIHAUTIDOUEUIS

azgdiiten ( mC2/m )

Na9uas ( mC2/m )

[V a 6
ANNATUNIW FbLANLLAUD

[V a 6
ANNATUNIW FbLANLLA Y

225-600

0.1342 0.0350

0.0764 0.0350

800

0.0814 0.0216

0.0764 0.0350

1000

0.0712 0.0186

0.0623 0.0260

1200

0.0568 0.0150

0.0489 0.0216

1350

0.0407 0.0112

0.0417 0.0186

1600

0.0367 0.0098

0.0328 0.0150

2000

0.0292 0.0079

0.0240 0.0112

2500

0.0269 0.0071

0.0164 0.0079

3000

0.0210 0.0057

0.0161 0.0077

4000

0.0148 0.0038

0.0121 0.0057




4. AMIAVUWNAUTIDOUDINDS

Zy= Ry+ Xy awasadiuonalaonn

I S BRI
e IR /1y \/§|M R /Ty \Sw

Vi = USOAUWNOYDOUDINDS

| M =  ASzudWNOYIIUDIMDS

SM =  fnaods1n)Wnayoaoualnas
| IR/ | M ansndouvavnszudaanlsinos

MONSUAWNOTDOUDINDS 19



N1SH1A199ANSNAAMNIVDS

NSzUdand0v9sSA1y9a0 ip niduan Asymmetrical

inaduludoo %2 Ccycle vaosdaaunszuaaasoos

a1 O (Asymmetrical factor) s=gusgnuan R/ X

91901uduA1 O lalasudsz=urruo1n

o ~ 1.02 +0.98¢ SR/X

20




sUaauns:zudandovs

Current

| O ~1.02+0.98e “3R/X
= a2l

Top Envelope

'p(asym)

\
A \/ Decaying (Aperiodic) Component b e

~

i \_/
S — 74—
L Y * ) “;/—

R

Bottom Envelope




Uszuauan o ua: R,,/X,, veovainas

a=1.75 Ry/X,, = 0.01, &nsuvainesusoaugo (>

1000 V) Aidnao > 1 MW

a=1.65 Ry,/Xy = 0.15, &ansuvesiaasusoaugo

nidfdnae < 1 MW

a=1.30, Ry /Xy, = 0.42, &nsunquuac
UaLadSIISVIaAUNINADNVNU




nisnnan Symmetrical short-circuit

breaking current (I,)

e Sym. Short-circuit breaking currentnune

Graph

a1 RMS gevdouus=nou AC goonszudaadvosanu=n

NUNAUWdIOUSNYD0USAUNADINTONYNOON

e Taanold 1EC 909 vzinnuali |, Garindu I,

* nadnsuvvainasdiuisaldadamaala tisvoinwavao

wanduuinanyoouainasnanavsdu=inan1sandvds Foo=dunu
minimum delay time weavaunsaiadaso, l0CK rotor

current ua: pole pair sveousines

23




: . _ L]
Symmetrical short-circuit breaking currerit

(1)) weo Synchronous machine

b = Sym. short-circuit breaking current
( = sbqrudunusnsadousznsne active power auvns:ua

lock rotor au delay time weavaunsaillaonu

24



: . : #
Symmetrical short-circuit breaking currerit

(1)) weo Asynchronous machine

|, = uql k

l, = Sym. short-circuit breaking current

4 = ed@rudunudasidousz=ndnonszudanseos (1,°) auv
nszua |0CK rotor ua: delay time waogunsaileonu
0 = soqudunudasidousznsne active POWEr Auns:ua
lock rotor au delay timewsavaunsailavnu
25



Nnasn

101 U

i 1 1 T
nimum switching delay ¢, =0.02s

_lfhls

:,___ =0.25s

—

1.0 :
I Mi
0.9
0.8

|
0.7 f—— |

_ I

0.6 L S -

o 1 2 3 4
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short circuit 1t
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short c[x
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n1snnan g

o

10— — '
ﬂﬂi Minimum swilching d-:l_a:.r t, - 002s /
0.8 —— L |
0.7 | —I- / |
0. e )
I os - 4 |
7 ﬂ.#l
0.3 - _l__
0.2 | !
0.1 :
o . I
001 002 004 01 02 04 1 2 4 MW 10

Effective power per pole pairofmotor M —

Real power/pole pair




szuulwwA:
750 MV A, 33 kV
nuaudao:

33kV/6.3kV, 15 MVA, %Z
=8, X/R=18.6

a9 lWiln:

Z, =0.0481+j0.0431 O

Motorl(synchro.):
5 MW, 6 kV, PF=0.86
Eff.=0.97, 1 /1,,=4
Pole pair = 2

Motor2 (3 . Asynchro):

1 MW, 6 kV, PF=0.83
Eff.=0.94,1 ./1,=5.5
Pole pair =1

61098919N1SAUI N

750 MVAG.

15 MVA, %/=8
33kV/6.3kV
X/R =18.6

X, =0.0481+j0.0431 Q




n1sn1 Impedance vaoszuulwin

. _c(kV)é* 1
° MVA, t,

- 1.1x 33° 1
° 750 (33/6.3)3

/ = 0.0582 Q2

Xo =0.9952, =0.995x0.0582 =0.058 Q

Ry =0.1X, =0.1x 0.058 = 0.0058

29



n1sn Impedance gevansiaiva

Z, = 0.0481+j0.0431 Q

Z, |= V (0.04812 + 0.04312) = 0.0646 O

30



mioudaglulilh %Z (kV )
ZTr —

100 MVA.
2
7z =883 401170
100 15
R - 02117 _ 511360

" Ar(X/RF Ji+(s.6)

X, =~+Z%?-R? =+0.2117%-0.11362 = 0.1787 Q
31



[ ]
ol

A1 X,R,Z aA2995Yd0S:UUNYA F

R, X, Z,

Utility 0.0058 0.058 0.0582
Trans. 0.1787 0.1136 0.2117
Cable 0.0431 0.0481 0.0644
Total 0.2276 - 0.3345

Asymmetrical Factor

O =1.02 +0.98e 3(R/X)
0 = 1.0240.98. —3(0.2276/0 .2197)

O =1.063 32



nszudandoos |, nya F ielidawavaoveinas

" c(kV)
k(without M1,M2) = X
J3 Z
1.1X 6
- ./3X0.3345 11.40 KA
Graph
Nszudandovs Ipeak ﬁqm F aliGawavoousinos
I =a~/21 = 1.063+/2 x11.40
p(asym) k
— 17.13 kA

33



as=udaaovvsvinuaiaas M1

P
MVA,, . = — _ S _
M1 eff Cosg, |~ 0.86X0.97 ~ ° MVA
[ p/Tyy MVAy 1\

ckV
! B Ml - 1.1X 6 )
I = —= = = | 2.5a4 KA
kM1~ /37y, J3X 1.5
NS=Nd990aMI0VS |p nnvatnas M1

= 0~2L  =1.75./2 x2.54
p— 627 kA Tané o

Ip(asym), M1




nssudandvasvnuaiaas M2

P 1 _
MVA = iz = ~1.28 MVA
M2 Cosg 0.86X 0.94
1 4 kve
Lyro = ey — 1 1 62 =1.705Q
M2~ _lp/Ime MVAy = 3% 55" 128

" ckV X6
I _ M2 B 1.1 _
AS<ldg9Mand0dS |p 1nuaiaas M2

= 05\/51;'{ = 1.75/2 x2.23
— 552 kA Yone 35

Ip(asym), M2




AS=Ndand99ssou naunuo F wonawavoao

UOIA9SADY

Ik = lk(without M1,M2) T+ lkM 1 T lkM 2 L] ‘

1140+ 254+ 223 kA =116.17 kA

I —
p(asym) lp(without M1,M2) + IpM 1 T lpM2

= 17.13+6.27+552kA = 28.92 KA

Tip: TWAawa motor 1ije Z | v <0.011, without  motor )



nmsaruoruan SYm. Short circult
breaking current seo motor

woisounan T, gavgunsnildeonu = 0.1 s

min

Motor M1 Uu Synchronous motor Tond

> oo =0.557 A

™ =T, - T

pole pair



n1snnan g

o

O Minimum switching defay L. =002s [
0.9} | j/'[/— /
= 0.8 —— I /#/ :
- R —

0.6 i -
1 0.5 ' I .
q9 0.4 0.1s

03] I~

0.2 ’—

o 2025 !

0 - 11

001 002 004 01 02 04 1 2 4 MW 10

e T Mapole pair=xs



nmsaruoruan SYm. Short circult

breaking current seo motor
Motor M1 Int SC M1
tnanldaluainnsiwozlaon q
AoOUU
Loz =0 (1)

— (0.68)(2.54)
~1.73 kA

39



nmsaruoruan SYm. Short circult

breaking current weo motor |

Tang

da Motor M2 1du Asynchronous motor 3 a2

1. =223

1WA L uac q

]

40
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n1snian U vaoga Motor 2

1.0 . -

) I
1 | Wﬂwitching delay ¢, =0.02s
0.9 —— | —

——

u--? B _ ) fhl 5

] '
|_ ,___ =0.25%
0.6 L I

o 1 2 3 4 5 6 7 8 9

Far-from-generator Ncar-to-generator i/l oder I/,

o o _




n1sn1an J googa Motor 2

o

10— — - '
ﬂﬂ! Minimum swilching delay 1, ﬁs‘y_ /
0.8} ——— I | |
0.7 | —I- '_,,/ |
0.6 ﬂ‘ s
S P e =
T 04l
“.3' ]
3 -
|7
0o E - i I . ‘
0.01 002 0.04 0.1 0.2 04 1 2 4 MW 10

e T Mwspole pair=



nmsaruoruan SYm. Short circult

breaking current seo motor

Motor M2

thanldaluannnsauwozldsn g, = 0.72 uez g, = 0.57
lows = £(1 k )
=(0.72)(0.57)(2.23)
=0.92 kA

/>
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nmsaruoruan SYm. Short circult

breaking current seo motor

soumns:zud breaking current

L,

|, =11.40 +1.73 +0.92

|, =14.05 kA

Int SC

Iy without M1 m2) T loms T 1om2

44



usvauan (voltage drop)

¢ pavgovisvaunnv=MInus=ansniwgovinsovlglwwranag
15U naoaussinnadsisvonluaa uotaosisulaulula nse
[Inyuazriliengnisldoiuanac

e NEC uuztihszauusvaunnngousulano
— Tudovgovarsidouluiniu 2%
— Tudovgovdvvsdogluinu 3%

— unavogvunvlnaaluiniu 5%

45



usvauanaiwuiassiu NEC

‘ |
{ |
1 |
1 |
e |
|
|
—
|
|
|
|
] |
3du 2 % Tadu 3 %
< > >
< T3du 5 % »
46




Vector diagram

Source Voltage

q Voltage

47



N1SH1ANNSOAUGN

3 phase

| : ns:zualus:zuu, A
T AD1WY10MIUY, M
 ADWMUNIUgovadtl, Q/m

L
R
X 1 Suanuaudyooadul, O/m
0

. yuniao 48



WansNUIuavIINIUSYOUGN

usalaneuamIn anas 10 %
usadagaga anas 19 %
anusIBIasa Nainfaeunlag
%0 aail TN 23 %
anwsisev full load anag 15%
nszua Starting anag 10-12 %
dszansam full load ana9 2 %

Power factor full load anad 1 %




6100810N 1

* yon1 Voltage drop wevs:zuulwWilh 380V, 3 ph, 100 A, 0.85
PF aigadurguia 3x50 mm?2 iaulunolan: Uad1W810 150 M

NNrnavv19 W

R =0.41739 Q /km cosO = 0.85
X =0.10903 Q /km sSInO = 0.526

VD = /3IL(RcosH+Xsino)
= /3x100x150(0.41739x0.85+0.109x0.526)/1000
= 10.72V

= (10.72x100/380) =2.82 % #
50



(29819N 2 (concentrated load)

®omusoauanvooszuuTliln 220 V, 1 ph, 15 A 1.0 PF, @@
noun 1x2.5 mm? d1nsudv9s8095:8:n10 40 M

R=7.97763 QQ /km CosO =1.0
X =0.13766 Q /km SINO =0

VD= 2IRL =2x15x7.97763x40/1000 =9.57 V =4.35%

lutiu 3% --> 0.03x220=6.6 V

6.6 = 2x15x7.97763xL/1000
L=27.58 m# al




m29819n 3 (distributed load)

#Foomusvauanvovs=uulwilnaosy: 220 V, 1 ph, 919lnaa suia
3x5 A, 1.0 PF, 30 m »nuwvovvsgas 1dars THW-1x2.5 mm?
S:9zr10IAA=IIVININU 10 M

A_____ B C D

52




(1D9919Nn 3

R=7.97763 Q /km cosO =1.0
X =0.13766 Q /km SINO =0

VD =2x7.97763(15+10+5)x30/3000 = 4.78 V =2.18 % #

lutAu 3 % > 0.03x200= 6.6 V
6.6 = 2x7.97763x(15+10+5)x( L/3000)
L =41.36 m #

Szg=nmonaanvlav=e1ond1 concentrated load) b




Thank You
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